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Answer to the question number-1        

a. 100 taka.      

b. 30 notes.              

c.  1 taka. 

d. 10 notes.             

e. Whole 

f. 
3

4
   

Answer to the question number-2        

a.False 

correct answer: 

110 taka - 1 taka 40 paisa =108 taka 60 paisa.  

b. False 

correct answer: 

140 taka 75 paisa – 20 taka 25 paisa =120 taka 50 paisa. 

c. False 

correct answer: 

125 taka 58 paisa + 57 taka 74 paisa =183 taka 32 paisa. 

d. False 

correct answer: 

74 taka 49 paisa + 36 taka 95 paisa =111 taka 44 paisa. 

e. True 

f.   False 



correct answer: 

The equivalent faction of           is            . . 

Answer to the question number-3        

1.c. 
3

3
    

2. d. 164 taka 50 paisa.   

3. c. 1- 
3

4
  =   

1

4
          

 4. d. 
1

4
  <  

2

4
 

5. a. 165 taka 75 paisa.                                            

 6. b.  There is no correct answer.  (For answering this question every student 

will get 1 mark full.)           

Answer to the question number-4        

a. 
1

2
                       b. 

2

5
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